
 

Example to model with upper elementary educators 



 

In The Tortoise and the Hare, why did (what caused) 

the tortoise win the race?  

Tortoise- a slow-moving, land-based turtle 
Hare- a fast-moving, rabbit-like mammal 
Mock - make fun of 
Course- the path a race is run on 

 Hare teases tortoise 

about moving slowly 

 

 

 Tortoise challenges 

Hare to a race  

 

 

 Hare mocks Tortoise 

by stopping along the 

course to take a nap 

Tortoise wins the race 

 

Details 

Who: Tortoise vs Hare 

What: Tortoise crosses finish 

line first 

When: after Hare makes fun of 

Tortoise’s speed 

Where: on a course made by 

Fox 

 

 

Hare mocks Tortoise by 

stopping along the course to 

take a nap 

In The Tortoise and the Hare, Hare teased Tortoise about moving slowly causing Tortoise to challenge him to a race. 

Hare started off quickly then mocked the tortoise by taking a nap along the course. While Hare was sleeping, 

Tortoise passed him.  Hare’s nap allowed Tortoise to cross the finish line first, winning the race. 

causing 

then 
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